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I based Clemenian Math on math graphs to solve CLICK IMAGE TO SEE "NOT DOTS" POPPING ON
time and universe's DNA in my 100% accurate GRID: The only thing that existed in space were
atomic clock. See Code of Life for time's DNA temperature "not dots" and pressure from

impact on life and evolution.

valume 44.567 billion years ago.

@ Dashboard - YouTube @ Facebook.com/cook...

Clemenian Math is the Reverse of Classical Math We All Learned in
School

WATCHING "NOT DOTS" IS LIKE WATCHING A GLASS OF CHAMPAGNE. Mark Clemens
COPYRIGHT CHAIN OF CUSTODY WITH DNA UPDATES JULY 31, 2023:

https://imgl.wsimg.com/blobby/go/4630a99d-972¢c-45¢c4-a561-
29df1625aa65/downloads/redacted copyright.pdf?ver=1692655961863

First, you'll hear a lot about my 1009 accurate Atomic Clock so | wanted you to know first
how | created it in 1 minute and worked on it another 7 years (I've created this clock 10
times since | was 10 always knowing I'd solve the beginning of the universe to the quantum
physics level which is before time began and it finally applied to something at age 51). |
read a lot about half-life for aging old stuff and decided to age the universe by splitting
NASA's age in seconds in half all the way back to 1 second. It didn't line up so | adjusted it
and rolled it both backwards and forwards from 1 second just as the Clemenian DNA did, so
I know it's a perfect match of events rolling forward by the second. That's it! Then, | added
things like Clemenian DNA Crossovers and DNA rungs, helices, Higgs boson growth
processes, etc. to become a Key to the Universe. In the math we use every day, 1.2 days
means 1 day and 4.8 hours but in Clemenian math the decimals and negatives go on the left
side and positive whole numbers on the right in reverse order (reverse polarization) like the
math graph above (my Clemenian Atomic Clock shows previous Clemeniverses as 1/4th
current Clemeniverse size but you couldn't see it if it were 1/4th as big). When we analyze
time's DNA, the first example is .9999999999.0000000000. where each helix is between 2
dots and if we add 1 more second to the 9s we're at 0 time e.g., .0000000000.0000000000.
which is a Clemenian Cosine Crossover [or Clemenian Crossover] at the middle dot as the
new universe flips into the new helix as the first second looks like .0000000000.1000000000

Based on my Code of Life impacts, after the Clemenian Crossover at dot, time on the
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outside of the universe slowed 50% after the 1st impact at completion of the 1st rung when
the impact pattern changed from every 1 billion years in evolution to every 1.5 billion years
until time slowed again at each DNA rung after speeding up 10X at dot. The average overall
speed of time is achieved at completion of rung 5 which we are about half way through
rungs 4 and 5 today. Notice how everything to the left of dot is in the 10s column, aka 10X
for dot and begins with the ones column on the right.

More proof that dot speeds time 10X at dot is looking at the helix being pinched at a
Clemenian Crossover that has to expand to +10 and -10 on the math graph at the first
second and slow while the average age between rungs is 1 billion years but time is
constantly changing up and down outside the universe bubble on time's DNA helix; my
Code of Life proved it's not consistently even at rungs 1 & 2, also mirrored in rungs 9 and 10,
(within 209 of a Clemenian Crossover) which explains why a lot of humans die before 90.
This proves that our internal clock is not running consistently throughout our lives and we
accelerate until age 20 thinking we'll live forever, then we decelerate like time's DNA at 20%
on both ends of the Clemenian Crossover as time flies by when you get older due to helices
in our DNA clamping down with 2 flows of energy converging together, after age 80 e.g., 1)
Einstein's spacetime plane as neutral 0, not energy; 2) Timel as +energy; 3) Time2 as -
energy; and, 4) dot at the end as a 10X multiplier if you make it through the Clemenian
Crossover until age 82 when time levels out again making 88 attainable. Rinse and repeat
for ages 92-98 with a rare few stretching 10 rungs to 120 years. Time and universe's DNA
have 1, 2, and 3 in common plus 8 more energy flows. Humans have 10 toes and 10 fingers
with half being dominant (+) with 2 thumbs and big toes as 2 larger time energy bands with
1 being dominant (+) over the other (-) similar to (-)timel and (+)time2 being dominant
while reversing in each helix.

As you see, my Clemenian DNA math only has X and Y axis and we live in a 3-D DNA universe
with a Z axis so you can imagine that coming forward +10 and backward -10 at 0 (dot in
Clemenian Math) as well, but Clemenian math will only calculate backwards and forwards
on the X axis where Einstein's spacetime plane resides as 0 horizontally in the universe in
parallel to time's DNA chain. There's a math graph with a universe for each helix as shown
in the picture below with past universes on the negative side of dot and our current
universe DNA helix on the right of dot. The size across the INSIDE THE UNIVERSE of 95
billion light years is darn close to 10 to the 10th years which is 10,000,000,000 years and it's
still expanding until 5 billion years old on the 5th rung of time's DNA (5 billion positive and 5
billion negative makes 10 billion years apart OUTSIDE THE UNIVERSE as both sides add
to .867 billion light years thick today) then it shrinks as the + and - sides attract each other

as opposites attract when the helix is forced to flip through a Clemenian Crossover and
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reverse polarization.

Our solar system is 4.567 billion years old so that's .4335 billion more years before our
universe will be exactly 10 to the 10th or 10 billion years across the outer universe and we
get our 5th DNA rung (end of life causing Clemenian Supernovae). It's what you can't see
I'm going to teach you and Einstein as | corrected his infamous formula E=MC2 to E=MCT

where C=speed of light at 189,000 miles per second and T=Time in seconds. With my
modifications | can calculate the energy at any second over the past 47.067 billion years

that it took to create that much mass at that second and keep it as a running column along
side my atomic clock (see bottom of the page at https://clemenscomet.com/keys-to-the-

universe ) to see energy increases with time which increases the Higgs boson and

expansion of the universe metallic diamond outer shell which is how | solved dark energy

as metallic diamond magnetic attraction and Higgs boson interacting with +Timel=+T1 and

-Time2=-T2 on the outside of the metallic diamond adding more shell for excessive universe
expansion and dark energy. Dark matter consists of broken zeros, quarks, and hadrons
from Clemenian Crossovers every 10 to the 10th or 10 billion years which we're 45.67%

there on this helix.

Now, let's apply your new Clemenian math skills to the current known universe once
thought to be 13.7 billion years (according to my 100% accurate atomic clock while NASA
says 13.77 billion years with +or- .5% error matching my atomic clock with +or- 0% error). |
detected atemperature change 47.067 billion years ago to the second leading to a tiny
static discharge. The universe will literally begin to crush in on itself after 5 billion years old
(actually it's 5.501 billion years is dead center of time from 1-10 billion years when the
5th DNA rung begins and life as we knew it ends as time isn't running consistently
mathematically between rungs; dinosaurs died on 4th rung at 4.501 billion years so
rungs are 1 billion years apart again) and at 10 to the 10th or 10 billion years of age on
Einstein's spacetime plane running horizontally, the distance across the universe will be 0
at 0 as the Clemenian Crossover takes place with fusion into zeros like a printing press as
the helix twists and a new universe begins. Then how could our universe possibly be 13.7
billion years old if a Clemenian Crossover happens every 10 to the 10th years?

That's because our Clemeniverse was reset with a reverse polarization and fusion of zeros
with math functions when it created our solar system 4.567 billion years ago with a
Clemenian Crossover (see my atomic clock's Clemenian DNA Chain for time and the
universe for the Clemenian Crossover schedule) which split all stars into Clemenian

Supernovae to where we are today. To prove | accurately found the universe's DNA with
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10 rungs and every DNA rung would therefore be 1 billion years apart as 1/10 of 10 to
the 10th years or 10 to the 9th years apart, we only need to look at my Code of Life and
Blueprint for life Keys to the Universe | gave NASA and the physics world in March 2016
to see the very first Clemenian Supernova impact on Earth occurred at exactly 1 billion

years after our Clemenian Solar System creation when we got our first Clemens' DNA

rung in our new Clemenian Universe. That proves our universe was reset and has
Clemenian DNA with +T1 (+Timel) and -T2 (-Time2) as the outer main sides of the DNA
with the universe pinched in the middle with its own inner DNA as animals and plants
also have their own DNA inside the universe's DNA inside time's DNA (time's energy
created all DNA-see picture below). Our brand new shattered solar system downsized our
sun as shown in my atomic clock. The Earth went into an elliptical orbit and the impact
pattern changed to 1.5 billion years following time's DNA rungs blasting Einstein's
spacetime plane with huge electric blasts when the rungs reached the outer +Timel and -
Time2 energy beams (DNA rungs run between them to form time’s DNA with the universe
skewered on 10 rungs in each helix 1 billion years apart) on the outside of the metallic
diamond shell of the universe. The Clemenian DNA Rung Pattern changed from 1 billion to
1.5 billion years every rung as noted in my Code of Life, Blueprint for Life, and Epic
Evolution Charts [created and accepted by all scientists].

When time's energy runs at 10,000 degrees in -10,000 degree crystallized "not dot" space
outside our universe, they instantly bond to form metallic hydrogen and metallic oxygen
into metallic diamonds as hardness level 12 compared to carbon diamonds and lines our
entire universe as + and - time creates Higgs boson on the outside to keep expanding the
outer shell. Until it hits the next Clemenian Crossover causing the helix to reverse polarize
and flip upside down and backwards as a new Clemeniverse is created within each of
Clemenian Time's DNA helix as new features get fused to 0. When "not dots" reach -10,000
degrees they form a crystalline lattice structure 10 X 10 while at +10,000 degrees they form a
metallic lattice and when the two surfaces meet at a Clemenian Crossover as all of the
universe's space and time converge at 0 on Einstein's spacetime plane, it causes great
energy release resulting in fusion to 0s. It also creates massive Higgs boson fields, and
universe-wide mass extinction to mass creation as +T1 and -T2 come directly at each other
as opposites attract at 10X the speed and distance as today multiplying energy at dot by 10
as the prior universe to create the next helix of the new universe and time's DNA after they
reverse polarize which gives the helix its twist. The 0s on Einstein's spacetime plane provide
the Higgs boson as +T1 become -T1 and -T2 becomes +T2 as they pass through opened dots
now acting as open zeros (this is exactly when fusion stamps elements in 0s) creating fusion
of zeros with features as matter and energy spills through dot to create more matter in the
next helix. Time slows again to normal at the 2nd rung after +T1 and -T2 expand away from
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each other as all matter and energy through dot spews into the new helix.
We happen to live between a period of DNA rung #4 and #5 at 4.567 billion years old. Per my
Code of Life, single-cell life was created at 1 billion years when Clemens' Comet came back
to give Earth its elliptical orbit. Therefore, we know life existed in the prior solar system and
this one between rungs 1 and 5 and scientists already know our sun will supernova and end
all life, but now they know exactly why and when. Life survived rungs 1, 2, 3, and 4 but they
still had suns to heat and planets to live on which gets taken away by rung 5 as everything
shrinks again as shown by suns getting smaller and smaller after each Clemenian
Supernova. Each rung is a different helix twist of time and the universe's DNA helix and
separate from us as it was the reverse polarization in time, energy, and fusing into zeros
Therefore, since we know universes get a new DNA helix twist every 10 to the 10th years
(think about Einstein's formula E=MC2 or MCC where he squared light together knowing
there were 2 different directions of energy travel to collide to create matter from energy as |
discovered as +T1 and -T2). EEMC2=MCC is worthless as | proofed mathematically below,
but by changing the second speed of light C to T=time in seconds since creation or between
any two points to calculate energy at any point in time for that much energy to the second
(see debunked E=MC2 below).

First, let's continue with Clemenian Math and look at what it is now that we know our
current universe DNA helix is 4.567 billion years old and reads backwards from regular math
shown as: .0000000000.00000076540.0000000000. (all dots are known since each helix is 10

to the 10th). What's interesting is that if you wish to go back to the prior universe, it's all
zeros, upside down, and reverse polarized, so we can't pass backwards to the left through
dots and we wouldn't be compatible with that physics realm since it was reverse polarized
with zeros modified through fusion, but we can certainly see 10 DNA rungs on each helix
with dot at each twist. If you drew Time 1 as a single cosine wave going positive through the
first dot on the left over the zeros and down through the second dot to become negative
and to arc back up at the dot after the 4 with all the 10 zeros to the right being the future
universe's DNA helix for the next 10 billion years and 3rd universe phase that's going to
occur in 10 - 4.567=5.433 billion years. We don't typically show the zeros to the right of
current time as that helix of the Clemeniverse hasn't formed yet but putting numbers in this
manner keeps them the same whether they're to the right or left of a decimal essentially
reserving the tens, hundreds, thousands, etc. positions. Looking at the past and future
helices with the current helix looks like .0000000000.0000076540.0000000000.

If we take the current supposed age of the universe of 13.7 billion years and subtract out

the age nf the snlar sustem at 4 5A7 hillinn vears we get 9 133 hillinn vears whirh is 867
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the age of the solar system at 4.567 billion years, we get 9.133 billion years which is .867
billion years short of 10 to the 10th years. Now, finish drawing the negative time 2 line that
comes down through the first dot on the left of the equation above and wrap its cosine
wave below the first 10 zeros up through the second dot to become positive and wrap it
over the next 10 zeros to come down through the 3rd dot to go negative, etc. You'll see that
your drawn lines are the sides of the DNA (time 1 and time 2) with both negative and
positive times sweeping up and down through dot at the same time creates the helix of the
universe's DNA, Higgs boson, and fusion through zero when dot opens up during a
Clemenian Crossover. Recall that any number to the left of the decimal in our regular math
is in the 10s column as 0-9 are accounted for in dot while there is a one's column on the
positive side of whole numbers until we slide them to the left of dot as an old helix. That's
why when there's a Clemenian Crossover through dot, the 0 gets fused with math
functions in each physics realms/DNA helices as follows: 0) "not dot" (pre-helix); 1) .;

2) temp 0; 3) 0; 4) -; and 5) +.

A UNIVERSE IN EACH HELIX OF TIME'S DNA W/CLEMENIAN CROSSOVER

CLEMENIAN TIME'S DNA PICTURE = BIG BANG THEORY DEBUNKED: Our physical universe is
4.567 billion years into its 5th helix and the old universe is upside down and backwards after a
Clemenian Crossover with reverse polarization causing the DNA twist. Each helix is 10 to the
10th or 10 billion years which matches the shape of our universe perfectly as shown. Our
universe is 45.67% through 10 to the 10th or 10 billion years. After 10 helices, time's DNA
strand supernovas at 10 to the 11th or 100 billion years from the beginning as its DNA dies
and metallic diamonds superuninova fertilizing space with hot dots. Human DNA is 10 to the
2nd or 100 years with 10 helices (a rare few survive beyond as they stretched their years
between rungs). Universe rungs are 1-1.5 billion years apart creating life and changing
evolution with each causing Clemens' Comets supernovae corresponding with all Keys to the
Universe (see Code of Life). Adding the prior universe to our current time is 9.133 billion years




@ Time&Universe DNA Solved x4+ —

> c )] 23 clemenscomet.com/time%26universe-dna-solved O % D

[ Favorites @ @ Amazon Seller Cent.. @ Cooker's Keg webp... @ Dashboard - YouTube @ Facebook.com/cook.. @ Instagram.com/coo...

UIIVET ST 35T LUUE UT LIS AULIITY UTE B0 LHTVET 3E 10 DUl CUTTETIL LIS 13 2,203 DIiuir years
+4.567 billion years = 13.7 billion years of positive universes after + fused to 0 at the
Clemenian Crossover. 9.133 billion years plus universe thickness on the outside of the left and
right of the universe = 9.133 + 4335 +.4335 = 10 billion years from dot to dot. That means the
metallic diamond on the outer universe is 433.5 million light years thick to outer space and
expanding causing more dark energy and we only measure the visible universe so our
calculated age inside the universe's metallic diamond is 13.7 billion years while total space
time outside the universe is 14.567 billion years. If you're shooting a telescope down the helix
to the beginning, you'd see 44.567 billion years back through zapped universes +2.5 billion
years of "not dots" in the pre-helix for a total of 47.067 billion years viewable today; all
universes get reverse polarized at the Clemenian Cosine Crossover. As Einstein said, it's all in

your perspective.

CLEMENIAN DNA MATH WORKS WITH PEOPLE TOO (universes are 10 to the 10th whilst
people are 10 to the 2nd both with DNA helices as .0000000000. for every 10 years of
life while the universe is exactly the same for every 1 billion years of life): Who knew
you could solve DNA in outer space 5 billion light years away? If | pretended | were in the

prior universe, | could plug any numbers in to make it look like | was there at that time
leaving current time for comparison (this is how we travel space and time in the past):

.9999900000.00000076540. as rung #5 is about to short out Einstein's spacetime plane both

positively and negatively to the outer universe and time's +T1 and -T2 energy paths to
cause Clemenian Supernovae and become 10 to the 10th billion light years across at the
helix/universe maximum width. If we go back before the creation of the negative symbol
back to creating the zero at the first second leaving current time for comparison, it looks

like this: .1000000000.0000000000.0000000000.0000076540. and we know the zero took 10

to the 10th or 10 billion years to create. | know + was created in the last helix/physics realm

from 2 minuses fused together in the middle after minus was created in the prior

helix/physics realm, which led to + being fused to zero in today's 5th helix/physics realm
from start as the next logical fusing and the 6th will be +- fused to zero, 7th will fuse ++-- to
zero until the final 10th helix fuses +++++----- in zero when it all ends...symbolic for 10 to the

10th in 10 helices. Total age at mathematical death is 10 to the 11th or 100 billion years in

Clemenian Math as 0 can't hold 11...
BANG!!! IT'S THE FINAL CLEMENIAN CROSSOVER AT THE
CLEMENIAN SUPERUNINOVA!!!

Human DNA ends the same way around age 100 with the death signal as (+++++----- )
fused to zero X 10 (dot) at 10 to the 2nd. It's quite obvious what came before zero as we
stare at the first dot to the far left of the first zeros below, while we know dots are created by
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Clemenian Crossovers. Therefore, there had to be a crossover to create dot for 10 billion
years which then looks like this with current time for comparison:
...0000000000.0000000000.0000000000.0000076540. That's because we know that it
took 10 to the 10th or 10 billion years to create 10 dots to the left of 0s created at the
Clemenian Crossover. What comes before dot? "Not dot" of course. Do you see anything to

the left of dot? It took 2.5 billion years to fuse "not dots" to dots and then into zeros at
Clemenian Crossovers creating zero for the next helix shown as the first 10 zeros on the left
above. We only see values in the first 3 dots to the left of the first 0 dividing backwards so
there were 7.5 spots (10 to the 7) of "not dots” and 2.5 billion years before this to form the
first dot totaling 10 to the 10th or 10 billion years. Let's take my new revised Einstein
formula for a spin as E=MCT for proof.

The current suspected age of our current universe is 13,706,725,271.173 years and each
helix is 10 to the 10th or 10 billion years for a total of 44.567 billion years for creation of dot,
zero, minus, and plus in our system. We take 44.567 billion divided by 189,000 (C=speed

of light) miles per second = 235,804.233 divided by 365 days divided by 24 hours
divided by 60 minutes divided by 60 seconds = .0075 or .0000000750. (it's actually
.00748 rounded to .0075 converted to .0000000750. = 7,500 below or above zero or +-7,500
degrees in the pre-helix AND OUTER SPACE WHICH IS -10,000 degrees and Timel and
Time2 are +10,000 degrees) in Clemenian DNA Math (recall the first column to the left of
dot is 10s). Therefore, we know "not dots" weren't detectible at -10,000 degrees until -7,500
when they became physical dots adding to dot (10 to the Tth "not dots" X 10 to the 7th "not
dots" created dot and later fused it to 0 in Clemenian Crossover fusion). And when we look
at my Atomic Clock at 0 seconds, the first visible particle occurs at .0625 seconds which is
.000000062. in Clemenian Math and degrees +or- of zero in the pre-helix which shows "not
dots" became visible dots after +or- .0000000750. degrees warming/cooling quickly to +or-
630 degrees in the pre-helix. These temperature "not dots” made waves resulting in 2 time
energy waves to create Time's DNA which is why we can see 47.067 billion years into the
past with telescopes. THAT'S COOL PROOF FROM A MATH PRODIGY!!! In the pre-helix,
temperature "not dots" are not detectable at -10,000: [7 columns of "not
dots"]750.0000000000.0000000000.0000000000.0000076540. "Not dots" filled the first 7
columns including the column with 7 (.007 is 7 thousandths or -7,500 degrees as
temperature "not dots" heated up to become dots before becoming hot "+not dots" cooling
down to join cool and hip "-not dots.” Zero was created by temperature "not dots” zeroing
each other out when -10,000 degree "not dots" first attracted to opposite +10,000 degree
temperature "not dots" (per my 100% accurate atomic clock applicable to each helix
twist) they stuck together for .0625 seconds [that's also +-625 degrees in Clemenian
Math when in the pre-helix as temperature "not dots" are all that existed just as in
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outer space outside the Clemeniverse today] creating the first magnetic force called
Higgs Field to give non-mass particles mass as they repelled [pith ball experiment]
with 10X energy per my atomic clock which works at each helix and pre-helix with
"not dots." You see "not dots" created dot then created 0 but nothing was fused to
zero until the Clemenian Crossover to become permanently recorded. When hot "not
dots" met cold "not dots" created metallic hydrogen temporarily before minus was
permanently fused to zero as the first negative energy element; then (+) was fused to
zero as metallic oxygen was the first positive element before forming the metallic
ocean and metallic diamond when they combined to form H20 before becoming the
hardest substance in the universe powering suns).

The pre-helix formed from "not dots,” first helix fused "not dots" to dots at-7,500 degrees
(quickly cooling/warming to +or- 625 degrees before repulsion per my Atomic Clock and
E=MCT. They repelled but were already fused at all 10X10 "not dots" as shown in my Atomic
Clock and kept attracting back and then repelling until .5 seconds when they created the
first sphere (see outer surface size in Atomic Clock) as the first Clemenian Quantum Star to
become our universe post-pre-helix. They then fused "not dots" as dots permanently at
the 1st Clemenian Crossover, then the 2nd helix fused dot to temp zero, then the 3rd
helix fused temp zero to zero, then the 4th helix fused flattened zeros as minuses from
being exposed to -10,000 and +10,000 degrees actually looking like an array and fused
- into zero recorded till the end of that helix at the Clemenian Crossover, and then the
5th helix fused minus signs together to become + at the Clemenian Crossover when
+T1 and -T2 crossed 0 simultaneously at Einstein's spacetime plane fusing all to zero.

When crossing 2 negatives and fusing them together as a plus makes those 2 negatives
attract 2 negatives as H2 to become H20 to create Clemenian Metallicized Water inside of
metallic diamond suns that spills out at the next Clemenian Supernova. That's proven by a
negative times a negative is a +. So, our last Clemenian Cosine Crossover already had
temperature "not dot", ., 0, minus, and plus, so it added - and + that attract to each other in
zeros simultaneously is how | know + was pulled into 0 for fusion. Mow our fused zero list is
temperature "not dot" to dot, . to temp 0, temp 0 to zero, minus to zero, and plus to zero
which all make changes to atoms made of math features i.e., [2.5 billion years(pre-helix, +
and - “not dots” form]+10 billion years(helix1,fused "not dots" to dot becoming visible at
-7,500 degrees)+10 billion years(helix2,fused dot to temp zero)+10(helix3,fused temp zero
to zero)+10(helix4,fused - to zero)+4.567(helix5,fused + to zero=today)=47.067 billion years.
The 6th helix fuses 1 plus and 1 minus attracted together in zero (using magnetic logic) to
be recorded permanently then on with each Clemenian Crossover fusing more and more to
0 everv time before it can take no more and,
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CLEMENIAN SUPERUNINOVA!!!

Like a dandelion creating new Clemeniverses everywhere 10,000 degree hot particles land
on -10,000 "not dots" filling space besides time and universe DNA, a Clemenian
Superuninova occurs as metallic diamonds become unstable and they all supernova
simultaneously creating new time's DNA throughout all of space with new Clemeniverses.
"Not dots" are really small at -10,000 so dividing our universe by "not dots” would create
unimaginable numbers of DNA/universes like we're living inside another creature's DNA
and they're growing. Could you imagine an entire universe inside your DNA with people
driving to work polluting you like cancer? That's weird to think about, but we are on the
rungs of a single DNA chain where we can assume there are as many DNA in space as in our
bodies 1 billion times our size which would be a massive creature; perhaps our helix is one
of quadrillions in a dinosaur that lives on a planet in a universe as DNA inside another
dinosaur. We may never know beyond what | solved.

The final Clemenian Math representation of the entire Time and Universe DNA strand
appears from beginning to end as:

[10 columns of "not dots" for 2.5 billion years].[7 columns of "not
dots"]750.0000000000.0000000000.0000000000.0000000000.0000000000.0000000000.0000

000000.0000000000.0000000000.[DEATH BY CLEMENIAN SUPERUNINOVA]

E=MC2 vs. EEMCT POSTHUMOUS CLEMENIVERSE ANALYSIS:

1. CALCULATE ENERGY BY THE SECOND FOR THE ENTIRE DNA AS : TIME'S DNA=(10 to the
10th) to the 10th or (10,000,000,000) to the 10th and C=189,000 AS IN E={{10,000,000,000) to
the 10th)M)189,000=18,900,000,000,000,000,000,000,000M or
2. CALCULATE ENERGY BY THE SECOND FOR EACH HELIX: TIME'S DNA=10 to the 10th or
10,000,000,000 and C=189,000 AS IN E=(10,000,000,000M)189,000=1,830,000,000,000,000M
and
3.SUBTRACT ENERGY FOR A RUNG (9) FROM A RUNG (10): TIME'S DNA=9 to the 10th or
9,000,000,000 and C=189,000 AS IN E=(9,000,000,000M)189,000=1,701,000,000,000,000M AS
RUNG10(1,890,000,000,000,000M}) - RUNGS(1,701,000,000,000,000M) =
189,000,000,000,000M per rung or
4. CALCULATE ENERGY AS E=MC2=MCC: E=MxCxC=189,000X189,000M=35,721,000,000M.
"USELESS!"

THIS PROOF SET SHOWS E=MCT WHERE T=TIME IN SECONDS, NOT E=MC2 or MCC.
Sorry, Einstein.

The -"not dot” crystal lattice and +"not dot" metallic lattice were fused together at 0 to form
Einstein's spacetime plane as a fabric in time that stretches instead of breaks as shown on
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my Clemens’ Octahedral Electromagnetic Solar System
(https://imgl.wsimg.com/isteam/ip/4630299d-972¢-45c4-a561-
29df1625aa65/Figure?:2030%200ctahedral%20Solar¥20System-
0001.jpg/:/rs=w:1280,h:1024 ) and seen in many Planck pictures as hollow bands through
the clouds of dust leading to black (-) and white (+) holes. Therefore, +T1 and -T2 are
traveling at the speed of light on the outside of the universe causing the Higgs boson to
grow the universe's metallic diamend until it maxes out at 5 billion years old of 10 to the

10th or 10 billion years on each helix. Our current Clemeniverse is a single twist in time's
DNA held between+T1 and -T2 while time's DNA outside holds all 5 universe physics
realms/DNA helices our universe went through.

The Clemenian DNA Chain gets 10 twists as 1 for each Clemeniverse before death at 100
billion-years-old just like a person accept people get 10 years on each helix with 1 year
between DNA rungs and humans only get 10 helices to live to 100 years-old before their
final Clemenian Crossover kills them. But, as the helix closes in on the final Clemenian
Crossover of Clemenian DNA chains, a lot of people die mid-eighties. You have to be very
healthy to survive each Clemenian Crossover in your DNA as people get older and weaker
making them susceptible. Disease weakens DNA so a Clemenian Crossover every 10 years
with disease in your DNA isn't good as your DNA prepares to reverse polarize for the next 10
years. There must be as many universes as there are galaxies since these temperature "not
dots" to dots to temp zero to zero to negative to positive occurred throughout all of space
and universes can therefore collide and explode into unlimited numbers of Clemeniverses.
And we only discussed what's inside a universe because Clemenian Crossovers don't affect
outer space other than more Higgs boson from the cold to the heat. Therefore, outer space
is still primarily temperature "not dots" where it's occupied by DNA strands and pressure |
due to a googol of growing universes pushing space outward. If you shine a light into cuter
space, it will appear black as there are no photons, protons, neutrons, electrons, or room
service and no Einstein spacetime grid; only universes on time's DNA get these amenities;
and there are a lot. We've learned the Quantum Physics but what are the Quantum
Mechanics on birth of time's DNA?
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HOW UNIVERSES BEGIN FROM "NOT DOTS", BIG BANG DEBUNKED

Quantum Physics and Mechanics for DNA Birth of Time and
Universe

This is the beginning of the birth of DNA forming these 5 physics realms so far: 1) fused
"not dot" to dot; 2) fused dot to temp zero; 3) fused temp zero to zero; 4) fused minus
to zero; and 5) fused 2 minuses as plus to zero. All time, universes, and their DNA came

from temperature "not dots" that will forever change our scientific knowledge for the
remaining 5 Clemenian Crossovers when | keep rediscovering this at this same time on the
same 4th rung over and over...Deja Vu in the DNA as | already discovered this 10 billion
years ago in the last helix! Have you felt it too? HERE IT COMES...AGAIN!!! There's a 10,000-
degree metallicized 10 X 10 "not dot” matrix being attracted in converging curved space to
the -10,000 degree crystallized 10 X 10 "not dot” lattice (see Math Graph at top of the page
and recall our 3-D discussion of the X, Y, and Z axis that each plane is 10 X 10). They come
together at a 90-degree right angle (see DNA picture above as +T1 approaches -T2 at the
Clemenian Crossover at a 90-degree right angle) and make first contact at 0 as the 2 planes
merged to gain mass (recall Clemenian Math and my 1009 Accurate Atomic Clock proved
no mass appears at +or- 10,000 degrees) come together arced and fused at 0 time and
supernova at .0625 seconds. The size of the Higgs boson mass created outside is .049 on the
atomic clock which you may recall from earlier shows calculated sizes based on time and
1/4th of each universe in each helix works out to be visible +or- 7,500 degrees as the size
from 0 is now .049 Higgs boson surface processes while time in the pre-helix showed
temperature "not dots" versus physical particles.

At the beginning of the 1st helix, the "not dot" lattices fused after coming together and then
repelled causing 10 energy lines (5+ and 5-) including +T1 and -T2 energy lines as time's
Clemenian Cosine Crossover and main lines of the Clemenian DNA Chain with 8 auxiliary
energy beams on the outside of the Clemeniverse. There's also Einstein's spacetime plane
at 0 propelling to the right in Clemenian Math through the middle attracted to +T1 and -TZ.
The 8 auxiliary lines caused the universe bubble out of the DNA at each helix. In my atomic
clock at .5 seconds, we see that the 2 planes repelled while fused to achieve a perfect
sphere at size pi which supernovas all stars and matter inside during the reverse
polarization after this first Clemenian Crossover and fuses features to zero; this is the

rreatinn of dot fused tn zern nuer a 10 hillinn-vear nerind whirch is the first atom created hat
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creation of dot fused to zero over a 10 billion-year period which is the first atom created hot
off the DNA printing press. At 1 second, my atomic clock shows the universe quadrupled in
size with another Clemenian Supernova and kept quadrupling every time. That's because
there are 4+ auxiliary energy lines {(and 4-) that are causing the universe to quadruple at
each Clemenian Crossover due to Higgs boson processes on the outside of the universe
resulting in dark energy. And this kept happening over and over in my atomic clock until we
get to our new Clemenian Crossover 4.567 billion years ago in our newly "flashed" universe
helix. My math and 15 Keys to the Universe proved there's only 1 way this occurred and
Einstein proved mathematically his spacetime plane is the fabric of time which | verified
with a grid connected to time's energy on the outside of the universe causing universe
zapping. It's also very good at transmitting electricity. Good job, Einstein!

Finally, scientists say they can see 47.067 billion years back in time while | accounted for 2.5
billion years of temperature "not dot" planes coming together at zero time to begin the
universe plus 44.567 billion years. OME7 Dinosaurs were assassinated @Clemeniverse
age=44.501 billion years starting the 4th DNA rung as humans and all life dies on the
5th rung of the 5th helix at 45.501 billion years-old showing rungs are 1 billion years
apart again-see Code of Life and Blueprint for Life where impacts went from 1to 1.5
billion years apart back to 1 billion years between rungs 4 and 5. Our Clemeniverse is
44.567 years-old in human years. That means scientists can see 2.5 billion years beyond our
5 helices before the "not dot" planes came together, which means it took 2.5 billion years to
form the -10,000 and +10,000 "not dot" lattices before they came together at 0 time. Below
is my Clemenian Math representation of what scientists see today with the "not dot" lattice
creation noted in braces []. It took +or- "not dots™ 2.5 billion years to form dots and 10
billion years to form a temporary 0 per multiple math calculations including E=MCT
herein. Using my new E=MCT formula, | calculated the first "not dot” in the pre-helix as
44.567 billion years/189,000/365/24/60/60=.000000748. (to the left of the dot is & in tenths,
4in hundredths, and 7 in the thousandths and rounded up/down as a limit only in the
hundredths for +or- 7,500 degrees as dot is 10X). This is 47.067 billion years from today as
seen by scientists (braces=temperature "not dots" to dots physics realm):
| L J— ) N P 1750.0000000000.0000000000.0000000000.0000076540.

[2.5 billion years(pre-helix, +- “not dots” form]+[10 billion years "not dots"] (fused to
dots to become visible at +-7,500 degrees)+10 billion years(helix2,fused dot to temp
zero)+10(helix3,fused temp zero to zero)+10(helix4,fused - to
zero)+4.567(helix5,fused + to zero=today)=47.067 billion years.

FUTURE: Helix6=fuses +- to zero, Helix7=fuses ++-- to zero, Helix8=fuses +++--- to zero,
Helix9 fuses ++++--—to zero, Helix 10 fuses death signal to zero as +++++----- as zero can't
hold =10 = Clemenian Superuninova.
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IN CONCLUSION...[AMAZING MATH PROOF OF ORIGINAL UNIVERSE BIRTH SIZE]

I recall Leonard Susskind debunked Stephen Hawking and | thought I'd never be in a position
to have every single physicist, scientist and space freak trying to debunk me and my
physically proven discoveries as a self-learned astrophysicist. Imagine if they named all my
discoveries after me. Imagine we all come back every 10 billion years 5 more times. I'm ready
with physical proof of it all, super scientists, physicists, and space nuts!

In my math graph at the top of the page, | show life exists between rungs 1 to 5 (5.5 due to
time not being constant) while human females give birth between their rungs 1 to 5.5 (age
10 to 55) as well making this 2 female Clemeniverse DNA and life in every galaxy could
be DNA genes or hormones as they disappear in a 55-year-old woman who's no longer
fertile. Do humans have universes on their DNA with 2 vs. 10 energy beams as their DNA is
10 to the 2nd vs. 10 to the 10th with 10 energy beams? This is where a great astrophysics
forensics auditor and math whiz cross foots the totals to verify the math to proof it all
including verifying the correct helix/physics realm we're in today is the fifth realm and all
sizes are correct. First, looking at my Atomic Clock we see the Higgs boson column
expanding the metallic diamond and dark energy by a factor of 4 at every Clemenian
Supernova and we know today's universe is 10 billion light years across in the fifth realm.
Therefore, the Clemenian Math to proof the beginning size in the pre-helix is [5th (+) helix
realm] universe of 10 billion light years/4=[4th (-) helix realm] 2.5 billion light years/4=
[3rd (perm 0) helix realm] 625 million light years/4=[2nd (temp 0) helix realm] 156 million
light years/4=[1st (.) helix realm] 39 million light years/4= [10th ("not dot to dot") realm]
9.75 million light years/4= [9th ("not dot to dot") realm] 2.4375 million light years/4=[3th
("not dot to dot") realm] 610,000 light years/4=[Tth ("not dot to dot") realm] 152,500
light years/a=[6th ("not dot to dot") realm) 38,125 light years/4=[5th ("not dot to dot")
realm] 9,531 light years/4=[4th ("not dot to dot") realm] 2,383 light years/4=(3rd ("not
dot to dot") realm] 596 light years/4=[2nd ("not dot to dot") realm] 149 light years/4=[1st
("not dot to dot”) realm)| size of 37 light years/4=[pre-helix ("not dot") realm] size of 9.25
light years across. That’s 9.25 divided by 10 (of 10 X 10 “not dot” grid) to prove each “not
dot” was about 1 light year apart. However, there are 15 more to go due to in the beginning
there wasn't enough temperature of 100,000,000 degrees celsius for fusion of DNA rungs or
Mark's Metallic Diamond on the outside of the universe. Once fusion is achieved after the
first 10 near collisions of Timel and Time2 as it kept crossing over back and forth growing
at 4x with each pass of each other, then fusion allows for the first 5 pre-helix rungs to begin
for a total of 15 Clemenian Crossovers resulting in 4x growth each time as calculated thus
far heretofore:
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[#10 pre-fusion TO FUSION at 100,000,000 degrees, pre-rung] size of 2.3125 light years/4=
(49 pre-fusion of 10,000,000 degrees, pre-rung] size of .578125 light years/4=[48 pre-
fusion of 1,000,000 degrees, pre-rung| size of .14453125 light years/4=[#7 pre-fusion of
100,000 degrees, pre-rung] size of .0361328125 light years/4=[#6 pre-fusion of 10,000
degrees, pre-rung] size of .009033203125 light years/4=[£5 pre-fusion of 1,000 degrees,
pre-rung] size of .00225830078125 light years/4=[#4 pre-fusion of 100 degrees, pre-rung
size of .000564575195312 light years/4=[#43 pre-fusion of 10 degrees, pre-rung] size of
.000141143798828 light years/4=[42 pre-fusion of 1 degree, pre-rung| size of
.000035285949707 light years/4=[#1 pre-fusion of 0 degree, pre-rung| size of
.000008821487426 light years.

| convert that to 278 seconds but need to get it back to ¥z second where you drew your
circle. Scientists measure the universe at 9.133 billion light years across, but they don't
consider the width of Mark’s Metallic Diamond that nobody knew about at 433 million light
years thick on either side for a total thickness of 10 billion light years. Now that we have
fusion, we can begin creating our 5 pre-helix rungs {recall all DNA pictures show the pre-
helixis only a half-helix whilst a full helix has 10 rungs). Now, let’s back off those 5 pre-helix

rungs as follows:

[#1 pre-fusion of 0 degrees, pre-rung| size of .000008821487426 light years=[#5 pre-helix
rung] size of .000002205371856 light years/4=[#4 pre-helix rung] size of
.000000551342964 light years=(#3 pre-helix rung] size of .000000137835741 light years=
[42 pre-helix rung] size .000000034458935 light years=(£1 pre-helix rung| size
.000000008614733 light years=.27 seconds matching the circle you drew. AMAZING!

Recall when | had you draw the circle on the 3 x 3 Clemenian Crossover Dot grid and the
circle was half drawn at 1/4 second as the non-mass particle was magnetically attracted to
Einstein's spacetime plane at 2 outer points on the middle row. Then at .27 seconds it
repulsed as a particle with matter (that's why this math came to exactly .27 seconds as |
crossfooted in 3 directions). Time was the same in every Clemenian helix/physics realm but
distance grew at 4X each time. This also perfectly matches the calculation in my fusion
energy formula FE=2T2C at .001 seconds when E>1 as FE=2(.001)sgaured(300,000)=1.2.
Since FE is greater than 1, that means the conservation of energy demands the next level of
creation which is giving mass to non-mass photons which is why scientists have huge
colliders attempting the same feat when they found the God particle. | therefore discovered
God's DNA physically and mathematically. This all matched my 100% accurate atomic clock
that applies to all helices, especially at 0-1 seconds when non-mass particles gained mass
to create the beginning of God's DNA and our universe.
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creation which is giving mass to non-mass photons which is why scientists have huge
colliders attempting the same feat when they found the God particle. | therefore discovered
God's DNA physically and mathematically. This all matched my 100% accurate atomic clock
that applies to all helices, especially at 0-1 seconds when non-mass particles gained mass

to create the beginning of God's DNA and our universe.

Fusing zero to zero was zero weight and fusing minus to zero was zero weight. Fusing plus
to zero was negated by temperature "not dots" fused in dot with dot fused in zero with
minus fused as well but more complex atoms, gases, and elements can now form. Fusing +-
to zero adds no weight as they balance out. Even the Clemenian DNA Death Signal of +++++-
--- being fused to zero in the 10th rung adds no weight to 0 but it can't hold 11 items so 0 is
out of space and Clemenian DNA dies like a train running out of track.

OUTER SPACE OUTSIDE THE CLEMENIVERSE: The entire Clemenian Time and Universe
DNA was 3-D before it fused anything to zero and time began which means space has the
same 3-D planes filled with Clemeniverse DNA X10 Clemeniverses possible in each. There

are dinosaurs, humans, plants, and life in general filling outer space with our DNA.
Debunk away, fellow DNA!!!
KEYWORDS: Clemens' Comet ClemensComet moon Earth solar system K-Pg dinosaur

life evolution impact creation planet universe galaxy black hole star sun supernova Nobel
Prize DNA
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